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@orgs SIGLEmTEET : 90

afleorm  Ered  @Qr@lemus  HplusnHE (e
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2. @5Ggiale 90 ellarméser 2 iemar. 96T SHEHMNESLD
sL_Lmub eSlemLweflSauL Coussor(HILD.

3. @aQaur aflamainEh Qasr@ssiulhsrear wrmm)
eflsnL&eafledlmEg) sflwmer eflenLulsners &svorLMihg)
Ijms OMR aflenL_gsmeafled 2w o’ LSS0 sy Him
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us55MmSS HHUAL udoallsss CFTLRsea|LW.

PART -1: MENTAL ABILITY TEST
(For Students of Class VIII)
Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you
open the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet.

2. There are 90 questions in this booklet. All are
compulsory.

3. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR Answer
Sheet. Donot mark ‘v’ or “X’in the OMR Sheet.

4. Since the time allotted for this Question Paper is
very limited you should make the best use of it by
not spending too much time on any one question.

5. If you do not know the answer to any question, do
not waste time on it and pass on to the next one. If
time permits, you can come back to the questions,
which you have left in the first instance and attempt
them.

6. Rough work can be done anywhere in the Question
Booklet but not in the OMR Sheet / loose paper.

7. Each correct answer will be awarded One Mark.

8. Please return the OMR Answer Sheet only to the
invigilator after the test. You can retain the Question
Booklet.

9. Quote your seven digit Roll Number without fail
for any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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euLpl(emmaen : (eNl.6T6vuT 1 - 10) : Directions (Q. No. 1 - 10) :
Yemeumd Cgmi euflengulled eSlHILILL Find the missing number in the following
6T6v8TEn6E0TE: S65vT(HILlg.. sequences.
1. 5,8,14,23, 2 , 50. 1. 5,8,14,23, _ ? ,50.
1) 30 2) 36 (1) 30 (2) 36
(3) 35 (4) 43 3 35 (4) 43
4 173 182 1ol 162 173 182 191
2. 16,165,172, 182,195, 2 2. 16,164, 170 18-, 19—, 2
1) o0 2) 20 1 0 (2) 20
201 202 @) 201 @ 2%
3 207 4) 205 5 5
3. 215, 124, 63, 7, 0. 3. 215,124,63, 2 ,7,0.
(1) 35 (2) 24 (1) 35 (2) 24
(B) 26 4) 15 (3) 26 4) 15
4. 96, 3, 48, 6, 24, 12, 2 ,24,6. 4. 96, 3, 48, 6, 24, 12, ? ,24,6.
1 12 2) 16 1 12 (2) 16
(3) 20 4) 10 3) 20 (4) 10
5. 0.04, 0.09, 0.25, 0.49,  ? . 5. 0.04, 0.09, 0.25, 049, ?
(1) 0.081 2) 0.121 (1) 0.081 (2) 0.121
(3) 0.0121 (4) 0.81 (3) 0.0121 (4) 0.81
6 6 10 9 6 6 10 9
5169 7 || 4 {180 8 || 3|2 |7 5(169| 7 || 41801 8 || 3| 2|7
8 6 5 8 6 5
1) 256 2) 225 (1) 256 (2) 225
() 144 (4) 128 (3) 144 (4) 128
3
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9 31 ? 141
1) 73 2) 53
3) 81 4) 25

YA A A A
11 19 22 28 30 35 10
1) 36 () 35
3) 37 @) 39
9 A
I E
U 441
25 ?
]
(1) 18 ) 81
3) 196 @) 225
10. 7 8 9
3 4 5
5 ? 5
50 0 70
1 o 2 5
B 2 4) 6
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7. 1 \/2 2 \/3 3 \/1 4\/5
9 31 ? 141

1 73 2) 53

3) 81 4) 25

YA A A

19 22 28 30 35 10

(1) 36 (2) 35
(3) 37 4) 39
9 A
I E
U 441
25 ?
1
(1) 18 (2) 81
(3) 196 (4) 225
10. 7 8 9
3 4 5
5 ? 5
50 0 70
@H o0 2 5
@ 2 4) o
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eudl(penmaer : (6Xl.eTevor 11 - 15) :
Qi euflemsuies HS& eu@mHeug)
6T6vTETT ?

11.

12.

13.

14.

15.

UF, O], IN, ER, __?

(1) BZ )
@) CY 4)

A,ABEGCILDME
(1) E (2)
¢ P (4)

1,2,6,15,31,56, _ ?

1) 92 (2)
(3) 65 (4)

H8, K11, Q17, __?

1 717 (2)
3) T20 (4)

4,9,25,49,121, 2
(1) 144 )
3) 196 (4)

BY

?

78

V22
726

169
225

eudl(penmaser : (69616501 16 - 20) :

Coupii L ewss vl

16.

17.

18.

(1) Nose (2)
(3) Skin (4)
(1) Brook (2)
(3) River 4)
(1) Hen (2)
(3) Cub (4)

Eyes
Teeth

Pond

Stream

Cow

Lioness
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Directions (Q. No. 11 - 15) :

Find the next term of the series.

11.

12.

13.

14.

15.

(1) BZ (2)
3 <Y (4)

UF, O], IN, ER, __?

A, A, B ECIDME,
1) E (2)
¢ P (4)

1,2,6,15 31,56, ?

(1) 92 2
3) 65 (4)

H8, K11, Q17, __?

1 17 )
3) T20 (4)

4,9,25,49,121, _ 72

(1) 144 )
3) 196 (4)

Directions (Q. No. 16 - 20) :

Find the item which is not associated with

others.

16. (1) Nose (2)
(3) Skin 4)

17. (1) Brook (2)
(3) River 4)

18. (1) Hen (2)
(3) Cub 4)

?

BY

78

V22
726

169
225

Eyes
Teeth

Pond

Stream

Cow

Lioness
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19. (1) 729 (2) o4
(3) 216 @ 1
20. (1) Kerala (2) Karnataka

(3) Tamil Nadu (4) Kolkata

auLl(penmaen : (69.6Tevur 21 - 25)

“: 2 ereoip @MU I9D@G (PesT 2 66
Qrew(p eunigews | awsHs [
sesEpsSlen_Cw gCremibd @
Qgriy 2 etengl. HCsH GlgrLmSen
Slg Liien Lullev
Qs fleysaflleNBrgs CUTHSSWLTETERNS
= IAEICE

Qer(h&s UL

21.  fleop : HCaordlymbd : : Herrbd

1) &L 2) Gsefar
(3) e&llermg (4) Sl

22. asreGpml : meoguire : @ Calgrsl :
1) &g 2) Gamed
(3) QgmeamrenL (4) et

23. 7:342::11:
(1) 1330 2) 1331
(3) 120 4) 121

24. Guphgl : @ OB : : eflwrerd :
1) Qus@ueur

(2) @&flwme
(3) eumefluied HlLjemri
(4)  eNwrer LG LT
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19. (1) 729 (2) o4
(3) 216 4 1
20. (1) Kerala (2) Karnataka

(3) Tamil Nadu (4) Kolkata

Directions (Q. No. 21 - 25) :

There is some relationship between two given

words/letters/numbers before “: :” symbol.
Find the other one from the given alternatives

having the similar relationship.

21. Mass : Kilogram : : Length : .

(1) Litre (2) Kelvin

(3) Seconds (4) Metre
22. T.B.: Lungs : : Cataract :

(1) Ears (2) Skin

(3) Throat (4) Eyes
23. 7:342::11:

(1) 1330 (2) 1331

(3) 120 4) 121

24. Bus : Driver : : Aeroplane :

(1) Operator
(2) Pilot

(3) Astronaut
(4) Air hostess
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H(mEGSDET : Sl(HeueT@peur : 25.

Sooliuglarro
(1
2

) Gameuevest
(2) samand
(3) &Um

4) @etrGsrellgser

788 W GO
RECTANGLE GI'G?)TI_IGIS)‘Q'; SDDSBMHKF
eraa|lb SQUARE eremuieng TPVZSD
era@fleo TRIANGLE ereiLieng eTeueumm)
GH&seTD ?

(1) USGBOHMF

(2) SQHZMFKD
(3) SSHBMHKF
(4) UQJZOFMD

@rsdlw OB wevpuier LAWYER 27.

ererieng 152642229 erea|b POLICE
111215182422
&MssTed JUDGE 6reilieng eTeueumm)

CTETLIEN S GT &6 LD

GH&sTD ?
(1) 176232022 )
(3) 172123722 4)

1021475
1064205

Qraflwu @MU G wpevmuier CAT = 24, 28.

DOG = 26 erafléd FOX = ?
1) 36 2) 45
(3) 54 4) 63

BUTTERFLY = 81, MATHEMATICS =121, 29.

LAST =16 erafléy TELEVISION = ?
(1) 108 2) 144
(3) 100 4) 64

Qomfludle 26.
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Thirukkural : Thiruvalluvar : :
Silapathikaram :

(1) Kovalan

(2) Kannagi
(3) Kambar
(4)

4 Elangovadigal

In a certain code, RECTANGLE is coded
as SDDSBMHKF and SQUARE is coded
as TPVZSD, then TRIANGLE is coded as :

(1) USGBOHMF
(2) SQHZMFKD
(3) SSHBMHKF

(4) UQJZOFMD

In a certain code, LAWYER is coded as
152642229 and POLICE is coded as
111215182422 then JUDGE is coded as :

1021475
1064205

(1) 176232022 )
(3) 172123722 (4)

In a certain code CAT=24, DOG=26
then FOX=7?

1) 36 ) 45
(3) 54 4) 63

If BUTTERFLY =81, MATHEMATICS =121,
LAST=16 then TELEVISION =

(1) 108 2) 144
3) 100 (4) 64

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

[CODE [vHI| I [ 19]

30.

@Qrsfslu EMUEL® weapule, GOLD
1234 GI'GUT@.|Lb SILVER
eremLieng 563789 erevflen ROSE eremiieng

TN S

ereueumm GMGSTD ?
(1) 9258 )
(3) 9285 (4)

9876
8529

“how are you” eTesTLIENS, 813 6TevIa LD, “you
and me” eT6OTLIENG 248 6TE¥IO|D “are you

happy”

6TETTLIEN & 835 6T6T6 LD

GHssNe,

31.

32.

33.

34.

35.

how eremLig)

1 8 2 1
@ 3 4 5
happy eremLig)

1 3 2 8
@ 5 4 1

2%3=6495, 3¥4=129167 eTafled 4*¥5="7

2016259
9162520

(1) 1625920 @)
(3) 2025169 (4)

8A7 = 11315, 7A5 = 7424 erafled 8A5 =

(1) 8939 (2) 3989
(3) 8993 (4) 3998
AK = F, GK = I erafléd IQ =

1) © 2 N
3 M 4 L

30.

www.Trb Tnpsc.Com

In a certain code, GOLD is coded as 1234
and SILVER is coded as 563789, then
ROSE is coded as :

(1) 9258 )
(3) 9285 (4)

9876
8529

If “813” denotes “how are you”, “248” denotes

“you and me” and “835” denotes “are you

happy” then :

31.

32.

33.

34.

35.

how means
1 8 2 1
@) 3 4) 5

happy means .
1 3 2 8

3B) 5 @) 1

2%3=6495, 3%4=129167 then 4*5 is :

(1) 1625920 2) 2016259

(3) 2025169 (4) 9162520
8A7=11315,  7A5=7424,  then
8A5=__

(1) 8939 2) 3989

3) 8993 (4) 3998

If AK=F, GK=I then IQ= .

1) © 2 N

B) M 4) L
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euLfl(penmase : (efl.6T6vvT 36 - 40) :
$Cp @MUl LUl (eten UL BiseT
eubleurernid epesTm| GlLIMHETSHEHS
HlewL_CGw 2 66 QgmLiiemu
N @GHeausTs: MDhHG 2 6Tere.
speuleun(h ellenmeyd GleT(HiGasLILIL (HstTerT
UL BgsEpL6n CariyenLwg eresfleo
gflwures UL misenens CaibolsHIGSHa|LD.

ADESCIY
m o 6 @ 6

36. BIOILID, BTeT, LISLD :
1) 1 2 2
@) 4 4) 5

37.  Quewser, g fAflwiser, HSSIeUTHET :
1) 5 (2) 4
3 3 4) 2

38. agrmsb, GLeamailen, CamaLl :
M 5 2 3

(3) 4 4 1

39. gOppr@H, Farr, @pSHuwi :

1 4 2 3
¢ 1 4 5
40. sTOBEL ST, Cebwplur@,
GeueTerm(h :
m 2 2 5
3) 4 4 1

www.Trb Tnpsc.Com

[CODE [vHI| I |19

Directions (Q. No. 36 - 40) :

The following diagrams show some
relationship among three items. For each
group of elements there corresponds one
diagram (1) or (2) (3) or (4) or (5). Select the
diagram.

ADELEIY
m o 6 @ 6

36. Minutes, Days, Months :
1 1 2 2
@) 4 4)

Q1

37. Women, Teachers, Doctors :

1 5 (2 4

@) 3 (4) 2
38. Chess, Tennis, Golf :

1 5 2 3

(3) 4 (4) 1
39. Tamil Nadu, China, India :

(1) 4 2 3

3 1 4) 5
40. Cattle, Sheep, Goat :

1 2 (2 5

3) 4 4 1
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eudl(penmaer : (69616501 41 - 45) :

$FCyp Oarssuul_(erer UL SHle60
UL L LD eTeoTLIg SHFMOLILM LDSSHEDOTULD,
ClFeueusBID 6TEITLIG Lilg&FH6T&HED6TULD,
(p&Ganewtd etevLg GCeuemeoudleveongeui-

senemyd GMIaEH D erevflev, LYewmeu(HLDd

eNlenn&aehs@E elenweflssea.

41.

42,

43.

A
/o\
G
C D
F
/_E I\
slyrwsdlaieTer LG SHSeUTHM6TE
Gehlous .
1) A B 2) B C
3) G,C 4) CF

glymgdlayerer Ligss Colanaudedeoms-

UTEEETd GDILILIG

Uy &S wHmib Geuameuilevenrs <y emmed

Srrngsle B OO TS 6UTSH M ETS
Ghloug

(1) F @ G

¢ ¢ 4 D

10
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Directions (Q. No. 41 - 45) :

For the given diagramatic representations

answer the questions. Circle indicates people

who live in village. Rectangle indicates people

who are educated. Triangle indicates people

who are unemployed.

41.

42,

43.

[ E A\

represents educated people who

live in village.
(1) AB (2) BC

3) G,C 4 CF

Educated unemployed people live in

village are represented by

People who are educated and unemployed

but not living in village are represented by

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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E eremuig) : 44.
(1) Geuemeulldergeumaer L (HLD
(2) USSeUTSHET WL (HLD
() dlymwssled 2 arereurser WL (HLD
4) uggs wHmp  Hrrogde
2 _GTETEUTSHET
B eremLig) : 45.

(1) ugss wLOML  Srmosdleyerer-
QUITSET

(2) ugsseurser LHMLD Ceuene-

ulebeorgeu e

() Ceaumeulleergeairser bmHmib
SrrgSlapieTereu 6T

(@) uwrss, Ceumeulders WwHMID
SrmgdlayieTereurser

+ GTEILIENG X GTEIE|D, — GTEILIENS + 46.

GTEIGYD, X ETRILINS — Grera|d, =+
TS + eTareld GHSSTE
5+12-6+3%x8=7?

1 1 @ 5
(3) 21 (4) 120
2 GraTLIieng 4 Gremeyd, 3 ererlemns 47.

2 aTe@|D, 4 GraTLIeNs 8 erameLDd,
8 erarLieng 3 erame|lb Cl&smerL_med
4+34+2%X8= __

(1) 16 (2)
3) 1/10

11
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E represents
1
2

(1) only unemployed
(2) only educated
(3) only live in village
(4)

4) educated who live in village

B represents

(1) Villager and educated
(2) Educated and not employed
(3)  Unemployed living in village

(4) Educated, unemployed living in

village

+ means X
— means +
X means —
<+ means +
then 5+12—-6+3x8=
1 1 (2 5
(@) 21 (4)

2 means 4, 3 means 2, 4 means 8,
8 means 3, then 4+3+2X8=

(1) 16 (2)
3) 1/10

4/19
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48.

o GTETLIGNS + GTrala|lD, B eraTLeNS —
GTETED, Yy TN X erera|ld, A
Terlens + ereme|ld ClasmerLme

5a3vy4A2B1 eremLig)

auLlpenmaenr : (eX.eTeveT 49 - 50) :

@@ useLuler @®mCeaum Hleneosen

SruuL_(herTerest.

49.

50.

P

6 -&@ TSy 2 6Tem eremr

X - erarm Bleveulled ofiqliL&ESS-
Sleylemer 6T

12

48.
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o means +, p means —, y means X,
A means -+, then 5a3vy4A2pB1 is :

Direction (Q. No. 49 - 50) :

Two positions of a die are given.

49.

50.

The number at the bottom of X is :
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euLpl(enmaen : (el.eTevur 51 - 53) Directions (Q. No. 51 - 53) :
redl eTeTLIeUT pm@6Slewt LoGHest. Fmewl Ravi is son of Rahul. Rani, Rahul’s sister has
stesiieur  gr@edenn FGangfl Cweib a son Ram and a daughter Geetha. Raja is the
SIQU([HEG TD 6T60TD LOSHENID, ST 6T65TD maternal uncle of Ram.
LDSEHLD 2_6MTENETTT. TN 6T6UTLIGU [FITLD-63T
SMULILDTLDEDT.
51. meil, pIp&E, ereer 2 na| ? 51. How is Ravi related to Ram ?
1) &gz (1) Uncle
(2) LDTLDE OGO (2) Cousin
(3) uum (3) Father
(4) ewwsglerT (4) Brother in Law
52. &sm eTemLeUT [FTQTe|&®E eTemen 52. How is Geetha related to Raja ?
2 ma ?
1) &Csrsf (1) Sister
(2) ser (2) Daughter
() &Csrgfullen s (3) Niece
4) S5 (4) Aunt

53. prQre|&@Wb, [TGQ&HGMD  eremer 53. What is the relationship of Raja with

2 mey ? Rahul ?
(1) smuwmom (1) Maternal Uncle
(2) &Csrgrer (2) Brother
(B) &Csrgfuler Logem (3) Nephew
(4) <uur (4) Father
13

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

[CODE [vHI| I [ 19]

euLPl(pemmasen : (6Xl.616v0T 54 - 55) :

&8 eraueU Hem il gl (HHG CHDHG
Hengude 2 &.15. gy Cgerm @)L gLDLD
Sl 2 H.8. giyd Qeearpri. e (Hb
@LgiLpb Hmo 6 &.0. gy Ggemmy Ger
aug LMD SHHLA e .5, girb Ceemm
SAG| UBISIEW DL _[HSITIT.

54. s&Hllen eIl igH@L, eumleEh
@epL_ LUl L. GTD :
(1) 11 &..8. (2) 7 &8
3) 8.8 @) 58.8.

55. gaglulen el iqadl(Bhg Seurs eumd

asSlanguliley o eerg) ?
(1) (2)
(3) (4)

UL &G

EAINETC)

UL SlpsEs
auLGm s

auLplpenmaen : (6X.6T6w5T 56 - 57) :
7897653428972459297647 Gl&n(h&s LI L
sievor QFTL 6wy LigGg ellewrm eTevwr 56
LOHMID 57 -&@G elewLweflsseaw.

56. 9 -&g (paTaTHTHE|D, 6 - &8
YemersrgEa|b Casrearl 7 -serler
eTawTantl&en s
1 1 2 2
G) 3 (4) 4

57. aTHS erewr F & erarentlsensudled
o _arerng) ?

1) o6 2 8
G 9 4) 7

14
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Directions (Q. No. 54 - 55) :

Sakthi drives 2 km towards south from his house
and turns left and drives another 2 km. Then
he again turns left and goes 6 km straight then
turns right and drives for another one km to
reach his bank.

54. How far is his bank from his house ?
(1) 11 km (2) 7km
(3) 8km (4) 5km

55. In which direction is the bank from his
house ?
(1) North (2) North-East
(3) East (4) North-West

Directions (Q. No. 56 - 57) :

Read the sequence and answer the questions
56 and 57. “7897653428972459297647"

56. How many 7’s are preceded by 9 and
followed 6 ?
1 1 (2) 2
3 3 4) 4

57. Which digit comes maximum number of
times ?
1) e 2 8
3 9 4) 7
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shansuller g, wElar el
Cumre BTeT@ WL EIE. elTsaerten
auwgisafler sn(hse 40 erafled aeflem

uwigl -
1) 8 @) 10
3) 12 4) 15

BTener MIBTET LSeTSHlIpenio 6T eotle
Crhenm (perslard eremen Slpenin ?

(1)  Qeudreflsdipents
@ salléfipan
() usadpemw
@) Hriusi e

@@ uaramaruid feo CasrlsEsL,
2GS EpL <faup bl

srogafler eraweanidens 84 LMHMLD

® GTeTen.

seogafler eramanisamas 27 ereled
9ibg LaTeneanTudleerer G midlset e
T GROT GROT| 60 &

1) 12 2) 10
(3) 14 4) 15
11x12Xx13 % .......... X 18 x19 ererm

CQum@mssHUaar @earmTLHlL&ESD

58.

59.

60.

61.
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Father is 4 times as old as his son and sum
of their ages is 40. Then the age of his son

is:

If the day after tomorrow is Wednesday,
then the day before yesterday was

(1) Friday
(2) Saturday
(3) Sunday

(4) Monday

Some hens and goats live in a farm. There
are 84 legs and 27 heads. Then the number

of hens is :

(1) 12 (2) 10

(3) 14 4) 15

Unit  digit in  the  product
11 X12X13X .......... X18 %19 is :

1 o 2 5

¢ 1 4 9
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62.

63.

64.

@m ouflenguiled ewll eremUeUT 62.

Qruilppg 18 -Houg QLsda,
aobl@bg 13 -eg QL dland
o GTeTmT eTelley euflenaudley o aTereur-
FHemleT erenTenHens

1) 29 2 31

3) 30 @) 32

A eeuelm B -y e 2 wpd. C 63.

o9l

@&ererorerelr. D eremuieuim E -gg il

GrETLIGUIT A eTaTUeIT

o WL Yermed B -y &l
Gerarrarelm  orafled  @eummled
(GETEITLOT 6L T :

1) D (2 E

3 B 4 C
Qar@ssuul(herer UL Sdlaerer 64.
O & 6u e & i & 6ifl 6ot 6T vt il & 6 &

1) 15 @) 14

3) 13 @) 16
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In a row of students, Mani stands 18t from
left and 13" from right. How many

students are there in the row ?

If A is taller than B; C is shorter than A; D
is taller than E but shorter than B, then

the shortest is :

No. of rectangles in the given figure is :
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euLPl(pemmaer : (6X.616501 65 - 68) :

A, B, C, D, E npmid F etendlp umy Gui
QUL LOMS &FID HTHH60 HLDMHSEIET6TEvIN.
B steviLieui F -&@Ww, C -&@&W KHeNew
2 _emennii. A etevilieu E -&@W, D -&@GLW0
BenLulleo 2 erermi. F eresiLieui D -& @&
QL Liypb 2 ememi.

65. A -&@ F-s@b @eLuile 2 erereum
Wi ?
1 A 2 D
3 B 4 C
66. E -5 euelipd o 6Termeum wimr ?
1 A 2 D
3 B 4 C
67. F -&@ @LUyobd @@mULelr wrr ?
1 A 2) D
3 B 4) E
68. E -&@ epeeeill L erdlyms @)mLiLielm
wimr ?
1) D (2) F
3 B 4) C
69. GOar(H&slULl(HeTer aUTTEenssenar

QurmGSLomer ClLmmEheTer alandudle

auflensliL(h$ 5.

(a) Application

(b) Selection

() Interview

(d) Advertisement

(1) dacb (2) dcab
(3) dbca (4) abcd

17
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Directions (Q. No. 65 - 68) :
Six persons A, B, C, D, E and F are sitting in a
circular path with equal distance facing the

centre of the circle. B is between F and C, A
is between E and D. F is to the left of D.

65. Who is between A and F ?
1 A 2) D
3 B 4 C
66. Who is right of E ?
1 A 2 D
3) B 4 C
67. Whoisleftof F?
(1 A 2 D
(3) B 4) E
68. Who is diagonally opposite to E ?

(2)

1) D F
B 4) C

(3)

69. Arrange the following words in a logical

sequence :

a) Application
Selection

c¢) Interview

Advertisement
1) dacb (2) dcab
3) dbca (4) abcd
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70.

71.

72.

73.

a_abb_a__bab erewp GgmrLife
MHULL  erpSgHIsamar
CamhgsHssmed QsTLrreang o
Siemwlibenar Gumib erafled eNHulL
CT(LDSGIGET

(1) aabb (2)
(3) abab 4)

gflwurs

abba
baba

em CurliysGarailed eoubalmm
sflurer ellenL&@b 4 WwIHIGLeTEET
UPEISLILHEDGI, epeubleur(m Seummen
ellenL_&@LDd 2 HUICLIGTEET GennasLi-
LOEDG. 20 eSleméser ClETemL ¢m
Caralled e(m WTE@TEIGT <6 enss)
lenL_wefls s e
BIensled e(fh LIMI@E SeUDTEg) 6Teile
Sjelargl S LG LiewT

(1) 60 (2) 45

3) 55 4) 50

Nl & (@Hs S

Q@@ SlgHTrsHHled Chrb 12 : 30 wenflwirs
@Qma&Ewéurg weafl weéreflna@w,
Bl wereflb@bd  @en L
Camenrid

(1)  Yereuenerels GamanTd

2) eNAGsTewTDd
(B) CrrGsmenrd
4) GnrGsmamrd

0.56 X 0.56 — 0.44 x 0.44 _ )
0.56 — 0.44 ’

1 1 )
(3) 0.4 (4)

0.56
0.12

18

70.

71.

72.

73.

www.Trb Tnpsc.Com

The missing letters which are given in a

proper sequence ina_abb_a__babis:

(1) aabb (2)
(3) abab 4)

abba
baba

In a competitive exam, 4 marks awarded
for every correct answer, 2 marks
deducted for each wrong answer. In an
exam of 20 questions, a student answered
all the questions out of which one fourth
of the questions were wrong. What was

his score ?

In a clock, when the time is 12 : 30 angle

between minute hand and hour hand is

R angle.
(1) reflex

(2) obtuse

(3) straight

(4) acute

0.56 x 0.56 — 0.44 X 0.44
0.56 — 0.44
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eudl(penmast : (el.6TeveT 74 - 78) :

OCar&ssliul L u_misefleo Geumyi’ L

UL Geng Caihols(hsHs.

B idlinilnike;

75.

o || O || B

" BT

78.
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Directions (Q. No. 74 - 78) :

Find the figure which is not matching with

others.

i EAlnilslke;

75.

o || O || CB

" O

78.

19
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euLPl(pemmaer : (6X.616501 79 - 80) : Directions (Q. No. 79 - 80) :

(PS6V eperim| LILBisehadlenL_Gw 2 sren Identify the figure based on the continuation
Qarrller oglinemuled bHSE of the previous figures.

UL UL Geng Cambols0H.

0 |(mOjmmE 0 |(mOmmE o,
O [

0O HE 0O (L
Yoo @9 o= Yoo @ Om
HE 0O HE OO
O mo Y mm O mo Y ==

80. 1 1 1 80. I 1 1
| 1 | | || P | i | | || ?
M | ' @ | ' m | ' @ | '
@ | ' @ | | @ | ' @ | |

20
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eudl(penmaet : (el.6Tever 81 - 82) :

UL MBigsT A O B @ @GOlLSL
Qgrillenens Glanewr(Hereng. CsH
QFTLiT| C -&@LW D -&@LW 2_6eng) eTesflev
D -&@ &flunen LLSemg CainbolsHss.

81.

A
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Directions (Q. No. 81 - 82) :

Figures A and B are related in some manner.
By the same relationship between C and D

choose figure D from the

@), (), ) (4.

options

81.

A
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83.

84.

85.

86.

E A ST eranugen senrentmig. [GDLID :
1) T2AH 2 TSAH

G T2SAE 4 TSAE

1729 -6 sawrantmig 9L :

1 1729 (2 1X2¢@
3) 1YCe@ (4 RQCNTI
Qerh&siiul_ L UL &l en e

WPPELWTEGLD LGS

e
m\

COMMUNICATION eraim eUmTi$ens
Weerer erpsgsamer & mant(h

Yemeu@d  THE < eUTTSMSE W
2 (heUM&s @uwieorg) ?
(1) COMING (2) COCONUT

(3) CAUTION (4) NATION

83.

84.

85.

86.
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The mirror imageof E A ST is:

1 TeAd 2 TSAH

G T2SAE 4 TSAE

The mirror imageof 172 9 is:
M 1729 (2) 1X2¢@

@) 1XLe 4) @CXNTI

The completion of the figure is :

L/ L/

W [ @ [/
N
m

letters of the word
“COMMUNICATION”, which of the

following word is not formed ?

From the

(1) COMING (2) COCONUT

(3) CAUTION (4) NATION
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Z:\Lr GTGTLIS G & 60oTGooT IT g

ML :

(1) Iiffgg ) ::;2§f
O “—  w <o—

8 - WHulenm au@guBb Flless
CTGHTSH GG GTGHTemT 6N

1 12 2) 13

@) 11 4) 14

@Cr auflemgulle o drar 8 ai(safle
THFena CUMgIF FeUTs6T @)\(H&HEGLD ?

1 8 2 9
() 6 4 7
Qrsdlu EMUILE  wpopule

BRG + BRG + BRG =702 erafled R -83&
GDSGWD eremr :

-00o0-

87.

88.

89.

90.
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The mirror image of < :\Lr is :

CR— ) ::;;55’
O e <—

How many two digit numbers are divisible
by 8 ?

1 12 2 13

@) 11 4) 14

In a row of 8 houses, how many common

walls are there ?

In a certain code, BRG + BRG + BRG =702,
then R is coded as :

-00o0-
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S| asremib UGS (ST 19nE@ 2L UL g60ev)
FOR ROUGH USE (Not for evaluation)
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